workbench

Thank You!

You have successfully downloaded your document
from Workbenchmagazine.com. Below are some
tips for Trouble-Free Printing

1) Clear printer memory. If you are unable to print this document,
turn off your printer for at least 15 seconds and try again.

2) Print two or three pages at a time. If clearing the printer
memory didn't help, try printing only two or three pages at one
time, rather than sending the entire file

3) If a document is required to be at an accurate scale set the page
scaling option to "none" in your printer settings.

4) Get advanced printer help. Visit Adobe Support for instructions
in troubleshooting common printer problems.

http://www.adobe.com/support/techdocs/316508.html



http://www.adobe.com/support/techdocs/316508.html

Issue 271  Volume 58  Number 3

May/June 2002

MATERIALS LIST

CASE
A (2) Side Front Stiles (birch) ~ 3/4" x 31/4" x 61"
B (2) Side Back Stiles (birch)y  3/4" x 31/2" x 61"
C (4) Side Top/Mdl. Rails (birch)3/4" x 31/2" x 14"
D (2) Side Bottom Rails (birch) 3/,"x 6" x 14"
E (2) Side Top Panel (beadbd.) /4" x 14" x 143/g"
F (2) Side Btm. Panel (beadbd.)'/4" x 14" x 311/g"
G (5) Dividers (birch ply.) 5/4" x 191/16" x 39"
H (1) Subtop (birch ply.) 3/4" x 191/16" x 39"
I (1) Adj. Shelf (birch ply.) 3/4" x 18" x 38%/g"
J (1) Back Panel (beadbd.)  1/4"x 391/5" x 54"
K (2) Front Face Stiles (birch) 3" x 31/," x 61"
L (1) Front Top Rail (birch) 3/4"x 23/4" x 33"
M(1) Front Bottom Rail (birch) 3/4" x 31/4" x 33"

V (4) Bottoms (birch ply) L/ x 173/4" x 325/g"
W(8) Drw. Guides (birch ply.) /4" x 27/" x 191 /16"
X (4) False Fronts (birch ply.) 3/4" x 7°/8" x 32%/g"
Y (8) Side Edgebanding (birch) 1/g" x3/4" x 75/g"
Z (8) Top Edgebanding (virch) /8" x 3/4" x 327/g"

AA Half-round Molding (birch) /2" x 1/2" x 24tt.

BB(4) Door Stiles (birch) 3/4" x 2" x 153/g"
CC(4) Door Rails (birch) 3/4"x 2" x 137 /16"
DD(2) Door Panels (beadbd.)1/4" x 137/16" x 123/g"
EE (1)Door Stop (birch) 374" x 21/4" x 381 /5"

HARDWARE
e (10) 112" Maple Knobs

N (5) Edging (birch) 3/4"x3/4" x 33" ® (8) #8x2"Fh Woodscrews
0(1) Adj. Shelf Edging (birch) 3/2" x 3/4" x 38%/g" * (44) #8 x 1" Fh Woodscrews
P (1) Top (birch ply.) 3/4" x 20%/4" x 411/" e (8) #8x 114" Fh Woodscrews
Q Bullnose Molding (birch) ~ 3/4" x 3/4" x 71/5 ft. e (2) #8x 1" Fh Woodscrews
R Cove Molding (birch) 3/4" x 3/,4" x 15ft. ) i
S Quarter-Round Molding (birch) 1/5" x 1/2" x 7ft. ® (2) Magnetic Catches/Strike Plates w/Screws
DRAWERS & DOORS ® (4) 2" Brass No-mortise Hinges w/Screws
1 n
T (8) Fronts & Backs (birch) 12" x 75/g" x 325/" ® (4) /4" Shelf Supports .
u (8) Sides (birch) 1/2n X 75/8" X 181/4" L (8) /2 x 19 /16 UHMW Drawer Glides
® (8) 1"long Brads
® © ©
® © ©
® ®
® ©
® )
(N (BB) (BB) (co) cc
1 0 )s
(EB)
(planed to 2" thickness) I E (S)
[
[
Q] T ! [ I R>
1 [

Birch 3" x 7%2" x 96" (Qty: 5)

Page 1 of 5

Copyright 2005, August Home Publishing Company.
All Rights Reserved.



WORKBENCH

Issue 271  Volume 58  Number 3 May/June 2002
® @® @
® @® @®
® O] O)
O) O) O) O) Q)

Birch %" x 9%" x 96" (Qty: 4)

® ) O

Birch 34" x 9%" x 72" (Qty: 1)

Page 2 of 5

Copyright 2005, August Home Publishing Company.
All Rights Reserved.



Issue 271  Volume 58  Number 3 May/June 2002

@
@

—=— Direction of beads on panel ——

Birch Beadboard 74" x 48" x 96" (Qty: 1)

Birch Beadboard 3" x 48" x 48" (Qty: 1)

——— Direction of beads on panel

E—C])

X
|

Page 3 of 5

Copyright 2005, August Home Publishing Company.
All Rights Reserved.



WORKBENCH

Issue 271  Volume 58  Number 3 May/June 2002
® ®
© ©® © ©® ©®
® ®
) ®
® ® @
)
)
)
)
)
)

Birch Plywood 3" x 48" x 96" (Qty: 2)

Page 4 of 5

Copyright 2005, August Home Publishing Company.
All Rights Reserved.



WORKBENCH. [

Issue 271  Volume 58  Number 3 May/June 2002

Birch Plywood 4" x 48" x 96" (Qty: 1)

Page 5 of 5

Copyright 2005, August Home Publishing Company.
All Rights Reserved.





